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[Time: 2 Hours]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

[Marks:60]

Q.1 “The intersection of the aggregate supply and the aggregate demand function determines the equilibrium 15
level of income and output.” Discuss.
OR
A. What is inflationary gap? Show it with the help of diagram. 07
B. Explain the nature of Phillips curve in the long run. 08
Q.2 A. Explain how the IS curve is derived? Brings out the factors that determine the slope of IS curve. 07
B. Discuss the derivation of LM curve. What are the factors that influence the shift in LM curve? 08
OR
C. Examine the effects of fiscal policy on income and interest rate in the IS-LM model. 07
D. Explain the application of IS-LM model in the Indian economy from 2000-01 to 2005-06 08
Q.3 A. Discuss expenditure adjusting policy to reduce deficit in the Balance of payment. 07
B. Discuss effectiveness of devaluation in correcting Balance of payment deficit. 08
OR
C. Explain the Mundell-Fleming model with the help of a diagram. 07
D. Explain the J-curve effect. 08
Q.4 A. Select the correct answer and rewrite the statement: 07
(i) Under value added method, national income is measured by
(a) Adding the valueat each stage
(b) Adding expenses at each stage
(c) Adding rent, wages and interest
(d) None of the above
(ii) In developing countries measurement of national income encounters problems
(a) ‘Non monetized sector
(b) Lack of adequate statistical data
(c) Lack of proper accounting practices
(d) All of the above.
(iii) GDP deflator tells us the
(a) Nominal progress
(b) Real progress
(c) Rate of deflation in the economy
(d) None of the above
1
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(iv) Real interest rate explains a change in
(a) A purchasing power
(b) Money income
(c) The rate of inflation
(d) None of the above

(v) Purchasing Power Parity (PPP) indicates
(a) Real value
(b) Nominal value
(c) Both
(d) None of the above.

(vi) As per HDR 2015, HDI value of India was
(a) 0.408
(b) 0.582
(c) 0.609
(d) 0.585

(vii) India ranks among
(a) High Human Development Groups
(b) Medium Human Development Groups
(c) Low Human Development Groups
(d) None of the above.

B. Validate the following statements:

(i) Under expenditure method income spent on every goods and services is included.
(ii) GDP includes income earned by all the nationals.
(iii) Human development measures the quality of life.
(iv) Gender inequality measures progress' made by the entire populations.
OR

Q.4 Write short notes on any three:
(i) Difficulties in estimating national income
(ii) GDP Deflator
(iii) Determinants of aggregate demand.
(iv) Equilibrium in the goods and money market.
(v) Effects of easy monetary policy on the Balance of payment.
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Y. IEAT SATHT & oo, AN deo gAfadr
37) TS AFAr ) Sermdiel 3cqest
%) TeloldTerdr a3 g) glleTdehT ATEY.
3. TIET QAFAT TAAT (PPP) ded gRIfadr.
3) arEdd Hed d) WYROT {o I
%) 37 30T & Gleer 3) areldehr ATEY.
§. HTAT IR 37gaTeT 09 FHAX HRAT AT fahrT e Hod............ gla.
31) o.8o¢ ) 0.5¢R &) 0.60]  T) 0.9¢Y
b, ART oo IeTd Hsdr

3) SEd AAG A 9T
d) HALIH AT fahr IC
%) HHAT AT AHE T
) glrer Uhr SIET.

9. @relter faumaT FeIar gsdig et o¢
?. TY UGAIALY FATIISC Aol § 9 0T Adiel 3c9e @I el SATe.
R. ST TG ARTRSIA fAGdeIedT Scdeaardl HATGN Tl CRATAINT ScaGAHEY el STl
3. AT AP NIATAT TR AT FHal
y. forer 3menTa fawHdr vhor AiehdEdal dheledT YT HIGeT .
far
7.¥. Gt ForcaRl diegay dfdica four foeT: 2y
TSET 3o AT 33oft
YT AT 3eurea faemrsreh
THIT AR STAUIR Tceh
aEq 30T HeT STSIRTATS Helel
SIagRAleTa{iel orsT UaT 4R aRome
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